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14 15 16 17 18 19 20 21 22 23 24
7,480 7,119] 6,842| 6,798| 6,780| 6,282 5,478| 6,035/ 6,579| 6,525| 6,222] -303 83
259 256 258 218 186 166 136 127 147 159 180 21 69
12,942| 12,402] 11,740] 11,532| 11,484{ 10,874 9,429|11,077| 11,838] 11,718| 11,232] -486 87
1,136| 1,056 928 863 802 764 593 642 665 751 721 -30 63
1.96 2.02 2.15 1.86 1.59 1.50 1.42 1.13 1.23 1.34 1.58
8.78 8.51 7.90 7.48 6.98 7.03 6.29 5.80 5.62 6.41 6.42
10.57| 10.36 9.88 9.20 8.47 8.42 7.62 6.86 6.78 7.66 7.90
6,603| 6,874| 6,957| 6,978| 7,023| 6,393 5,492 5,079| 5,623| 5,185| 5,077] -108 77
79 96 73 67 76 78 60 52 42 57 45 -12| - 57
9,933| 10,259| 10,379] 10,400] 10,523 10,133 8,696| 8,195 8,891 8,278| 8,504 226 86
333 322 345 257 238 243 223 251 248 220 200 -20 60
0.79 0.93 0.70 0.64 0.72 0.76 0.69 0.63 0.47 0.68 0.53
3.35 3.14 3.32 2.47 2.26 2.40 2.56 3.06 2.79 2.66 2.35
4.12 4.04 4.00 3.10 2.96 3.14 3.23 3.67 3.25 3.32 2.87
14,083| 13,993| 13,799 13,776| 13,803| 12,675| 10,970 11,114 12,202| 11,710| 11,299] -411 80
338 352 331 285 262 244 196 179 189 216 225 9 67
22,875 22,661 22,119| 21,932 22,007| 21,007| 18,125| 19,272| 20,729| 19,996] 19,736] -260 86
1,469| 1,378] 1,273] 1,120| 1,040 1,007 816 893 913 971 921 -50 63
1.46 1.53 1.47 1.28 1.18 1.15 1.07 0.92 0.90 1.07 1.13
6.42 6.08 5.76 5.11 4.73 4.79 4.50 4.63 4.40 4.86 4.67
7.78 7.52 7.14 6.32 5.85 5.89 5.52 5.51 5.27 5.87 5.74
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30 [10km/h 1,986 1.999 1,958 1.833 1.669 1,478 1.099 1,166 1,330 1,343 1,218 -125 -9.3 10.9 61
km/h |20km/h 1.418 1.371 1.466 1,516 1.543 1.374 1,194 1.360 1.445 1,231 1.318 87 7.1 11.8 93
30km/h 975 1,147 1.260 1,224 1.464 1.309 1,190 1.092 1.272 1,114 1.029 -85 -7.6 9.2 106
4,379 4,517 4.684 4,573 4,676 4,161 3,483 3,618 4,047 3,688 3,565 -123 -3.3 31.8 81
50 [40km/h 980 1.038 1.099 1,231 1.286 1.274 1.130 1.003 1.106 1.078 1.024 -54 -5.0 9.1 104
km/h [50km/h 887 890 856 901 948 895 824 818 904 916 882 -34 -3.7 7.9 99
1.867 1.928 1.955 2,132 2.234 2.169 1.954 1.821 2.010 1.994 1.906 -88 -4._4 17.0 102
80 60km/Zh 1.103 1,151 1.122 1,254 1.200 1.173 1.081 1.132 1.142 1.143 1.187 44 3.8 10.6 108
km/h |70km/h 896 927 948 995 982 901 812 823 949 960 879 -81 -8.4 7.8 98
80km/h 1,651 1,648 1,609 1,623 1,556 1,411 1,241 1,332 1,512 1,465 1,398 -67 -4.6 12.5 85
3.650 3,726 3,679 3,872 3,738 3.485 3,134 3,287 3.603 3,568 3.464 -104 -2.9 30.9 95
100 |90km/h 897 886 934 968 932 883 773 723 823 853 177 -76 -8.9 6.9 87
km/h [100km/h 1.857 1.768 1.526 1.350 1.384 1.242 1.012 1.103 1.090 1.046 986 -60 -5.7 8.8 53
2,754 2,654 2,460 2,318 2,316 2,125 1.785 1.826 1.913 1.899 1.763 -136 -7.2 15.7 64
100 |120km/h 1.083 883 767 662 607 516 455 403 455 405 435 30 7.4 3.9 40
km/h [140km/h 125 93 59 44 60 45 26 35 32 37 20 -17 -45.9 0.2 16
160km/h 17 14 13 10 8 4 3 4 5 2 3 1 50.0 0.0 18
160km/h 4 5 4 3 5 3 3 0 2 3 0 -3 1-100.0 0.0 0
1,229 995 843 719 680 568 487 442 494 447 458 11 2.5 4.1 37
36 35 34 31 35 29 28 34 36 31 49 18 58.1 0.4 136
13.915 13.855 13.655 13.645 13.679 12 .537 10.871 11.028 12.103 11.627 11.205 -422 -3.6 1100.0 81
km/h
o 1 24
50km/Zh 80km/h 90km/h 100km/Zh 120km/h | 120km/h
5,471 3,464 777 986 435 23 49 11,205
7 65 31 47 26 4 12 192
0.13 1.88 3.99 4.77 5.98 17 .39 24 .49 1.71
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29 623 0O 50 854 7 79 1477 7
4 86 7 16 217 9 20 304 6
1 27 8 9 117 6 10 145 4
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